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1. R e A [1_—: 1;_1_]5@,-:: o 3
At Frferfias § & SH-a TF FE R 2
(@) A= ?
b AR 2
© (K)T+A eiidag
@ (&) +A fmefida ?
2 10
2. Lﬁ"ﬂg] ¥ R v ¥ x tRa v FREd
a;ﬁt R?
(a) 180
(b) 120
(© 90
@ 72
3. 3R
(1+2x—xDB=ay+ax+ax +.. +axi? 8,
_ﬁf ﬁo—al+a2—a3+a4—...+auﬁ?€ﬁiatﬁ'(
22
(a) 32
(b) 64
(e) 2048
(d) 4096
4 R C(20,n +2) = 020, n - 2) ¥, T n FFESH
TR R ?
(a) 18
(b) 25
() 10
@ 12
KJU-S-TMS

(2-A)

: 0 k 4
k%ﬁﬁﬁqﬁ%ﬁﬂt{,m[_k 0 -5
o =3
S R ?
(a) e ThH
b) FEaAQ
(¢) had IR

(d) ¥4

ST (1101101 + 1011011), T g¥wrea Tgfd #
form e foran S wah R 2

(@ (198);,

(b)  (199),

(e) (200),

@ (201)y,

% log; 1024 — logy 10 + -;— log; 3125 =1 qH

TR ?
(a O
by 1
.0
(d 3

af% x = log, (ab), ¥ = log, (bo), z = logy, (ca) 2,
& Frefafga § @ P @l R 2

(a) xyz=1

b) x+y+z=1

© Q+xt+@+y? +(Q+2 =1

@ Q+02+Q+y2+0+ z2y2=1




| 7] Ifmatrb.:A= [1__: Ili:'J where i = J—_l,
then which one of the following is correct ?
(a)  Ais hermitian
(b) A is skew-hermitian
(€  (A)T + A is hermitian
@  (A)T + A is skew-hermitian
2. The term independent of x in the binomial
expansion of (;22-,- -~ &]10 is equal to
(a) 180
(b) 120
() 90
d 72
3. If (1+2x—x2)3=an+alx+azx2+...+a12x13.
t:henvsvhaaltitztao—al tay-ag+a —-..+a),
equal to ?
(a) 32
(b) 64
(¢) 2048
(d) 4096
4. If C(20,n +2) = C(20, n - 2), then what is n
equal to ?
(a) 18
(b) 25
(e) 10
d 12
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For how many values of k, is the matrix
) S B

-k 0 -5| singular?

~k k -1
(a) Only one
(b)  Only two
() Only four
(d) Infinite

The number (1101101 + 1011011)2 can be
written in decimal system as

(a) (198),,
b  (199),,
(©  (200),,

@ (201),,

What is the va_lue of
1 1
%o log; 1024 — log; 10 + 5 log, _3125 ?

(a) 0
(b) 1
{c) 2
d 3

If x= log_ (ab), y = log, (be), z = logy, (ca),

then which of the following is correct ?
(a) =xyz=1
(b) x+y+z=1

@) A+xl+(1 +y e+ lz1

@ Q+02+Q+y2+(1+22=1



9. maﬁﬁqh[x;y xiy]'“[_zl]ﬂls-“‘”“ﬁ“{

c=[§]%|aﬁm=c€r,?ﬁwa% AR frgd T 2 ?

m =R
- TP
o ™= 0g
ik RO e
foe)

Il
A A
N 9
L il

g

2

AT &1 9 =R 2 : :
"ax +hy +gz|
(a) -10 @) 5
(hy -14
18 z
c) -24
@ -34 lax + hy + gz |

(b) hx + by + fz
10. af 15<x<45 B, @t frefafaa ® & F=F-E

w2 : S
(a) (2x-3)(2x-9)>0 [ax + hy + g2 |
b)) @2x-3)(2x-9)<0 ' (e) hx + by + fz
© (2x-3)(2x-9)20 Lgx +iy+ez
d @2x-3)2x-9=<0 (d) [ax+hy+gz hx+by+fz gx + fy + cz]

11, TA AR S=(1,2,3, .18 1 SxSWTH
Get R xRy & oRe ® AR log,x > log,¥|14. ¥Rz ‘ABLE ¥ el 1 wwafem #0 F W

W@ a= o | 7@ R R b B wem wn @, fr =l B w e
(@) e @ oA B ?
(b) FHaw FufEd (a) 2
(¢c) - Had "D b 4
(@ wwfa 3f ghmee S s
SR @ 8
12. arr |4 & B | wi= /1 % |
\ i g2 16 15. 9= (5) yafesardt T\‘ﬁ * ufaesg ﬁi@ﬁ i
1 R ? | e Fe 1 8 2
@ O (a) 10
b -2 ) 15
() 4i (0 20
@ -4 @ 25
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s [x;;y xi’y], B-= [_21] and
C= EJ If AB = C, then what is the value of
the determinant of the matrix A ?
(a) -10
(b)  -14
() -24
d -34
10. If 15 < x < 45, then which one of the
following is correct ?
(@ (2x-3)(2x-9)>0
(b) (2x-3)(2x-9)<0
(e) (2x—3)(2x—9)_20
d (@2x-3)(2x-9)<0
11. LetS={1,2 3, ..). A relation R on Sx8Sis
defined by xRy if log, x > log, y when a = %
Then the relation is
(a) reflexive only
(b)  symmetric only
(¢) transitive only
(d)  both symmetric and transitive
12. What is the value of the determinant
L S
i* % ® | wherei= (T 2
LI -
(@ o
b) -2
() 4
d) -4
KJU-S-TMS (5-

13.

14,

15.

A)

a h g SRAE
LetA=|h b f| andB = ¥ |, then what is
2. 1. zZ
AB equal to ?
]'ax+hy+gz_1
(a) y
L % .1
rax-rhy+gﬂ
(b) hx + by + fz
v
|'ax+hy+g21
(c) hx + by + fz
_gx+ﬁr+czd

(d) [ax+hy+gz hx + by + fz gx + fy + cz]

What is the number of ways in which the
letters of the word ‘ABLE’ can be arranged so
that the vowels occupy even places ?

(a) 2
(b) 4
(e 6
d 8

What is the maximum number of points of
intersection of 5 non-overlapping circles ?

(a) 10
(b) 15
(exs 120
@ 25




syt @i (03) St & ferg FE9 : Tt 2t (02) AT @ forg fAEr :
ﬁn%ﬁaﬂaqawﬂ@qtﬁwaﬁ’rﬁm,aﬁx,Ysmz ﬁnﬁﬁﬁmﬂﬁaﬁq@qeﬂrmﬂyﬁ%m
& wgera # | W it 6 78 sagdl & we H | Y

n(Z}%ﬁEQ%mmiaﬁﬁﬁgo%mi l

e i fh tan3A _ g &f tan A » 0 3R
g tan A

B | Ke s ?

19. tan? A foFu SR 2 ?

K+3
; (a)
16. af y 3w 7 saudl ) Fer 4: 5% I A 3K-1
2, A pH AR TR ?
) 18 K_3
(b)
b)) 19 3K -1
(e) 21
(d 23 3K -3
(e)
K-3
19. n{X)+n(Y)+n(Z)—n(XﬂY')—n(YnZ)—
n(XﬂZ}+n(XnYnZ)
FIAA TR ?
@ ;;*31
(@) a+b+43 w
(b) a+b+63
(¢0 a+b+96 20. tan A ¥ arafa® wHl & fog, K fres dfim
@ a+b+106 T & wH R ?

18, W smEmRN AR xAE TYAE M3 @ =33
& 77 &, wen pd, A XF [ & s J
ST TR ?

b L ae
(a) p+b+60
(b) p+b+40 © %@15
(c) p+a+60
(d p+a+40 @ %31‘!’{7
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Directions for the following three (03) items : Directions for the following two (02) items :
Consider the following Venn diagram, where X, Y | Read the following information and answer the two
and Z are three sets. Let the number of elements in | items that follow :
Z be denoted by n(Z) which is equal to 90.
X " f Lot S04 =K, wheretan A # 0 and K = 1.
év& 19. Whatis tan?A equal to ?
Z K+3
(a) 3K 1
16. If the number of elements in Y and Z are in
the ratio 4 : 5, then what is the value of b ? ®) K-8
(a) 18 B
(b) 19
(c) 21 3K -3
Gt
(d) 23
17. What is the value of K+3
n(X) + n(Y) + n(2) - n(X N Y) = n(Y N Z) - S
nXNZ)+nXNYNZ?
(a) a+b+43
(b) a+b+63
(¢ a+b+96 20. For real values of tan A, K cannot lie
between
(d a+b+106
(a) 3 and 3
18. If the number of elements belonging to neither 3
X, nor Y, nor Z is equal to p, then what is the
number of elements in the complement of X ? (b) 1 and 2
2
(a) p+b+60
(b) p+b+40 © ;l];-and5
(¢ p+a+60
1
(d p+a+40 (d) 7and7
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st 3 (02) A & e g 24. A 3N B IR SERU ¥ NER i &
ﬁmﬁmmwmmma&m%m mgg=3smusmssmm=zm23’h

ki

@cnwma(zm)wm%%w B AR ¢

st oD @Hia ¥ 3R BC 3 W EE ' | WM oy
aﬁhqf%zms:e,zmn=a,30=pam 6
CD=q? | J
® 7
21, Fr=fufgs = foem Hif¥C
1. ADsin0=ABsina (©) %
2. BDsin 0 =ABsin (0 +a)
T # & WAEA @ R (d %
(a) “had 1
® . 25. sin3 3x + 4 sin® x - 3 si
. gln oX + CO08 X 4+ 481n" X— SN X+
(¢ 13 2gH :
3 wih1=lﬁ2 Jcosx—4cos” X
@ - fora ST B 7
99. ABTrE® T R ? (a O
(a) (92 + q2) sin 0 ® 1
pcosB+qsin® (© 2sin2x
®) (pz—q2.) cos 0 (d) 4cosdx
pcos9+qsine
qcosO+psinb %ﬂﬂﬂilﬁﬁ@ﬁt?
T
(d) (P2 _qg) s (a) [0 ]
qcos®+psinb () 0,3l
Elﬁ cos17° —ginl7’ @ Ehl
23. tan 0 = = 2, @ o WH :
cos17° +sin 17’ d [1,3]
TR ?
@) 0° 97. 8cos10°. cos 20°. cos 40° T HH T ¥ ?
®) 28° (a) tan10°
(b) cot10°
(¢) 38°
(¢) cosec 10°
- (d) sec 10°
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Directions for the following two (02) items : 24. A and B are positive acute angles such that

Read the following information and answer the two cos 2B = 3 sin? A and 3 sin 2A = 2 sin 2B.
items that follow : What is the value of (A + 2B) ?
ABCD is a trapezium such that AB and CD are @ K
parallel and BC is perpendicular to them. Let i 8
AADB:G,:ABD:u,BC=pandCD=q.
® I
21. Consider the following : 4
1. ADsin6=ABsina , W X
. 3
2. BD sin 6 = AB sin (0 + o)
Which of the above is/are correct ? (d) %
(a) 1only
25. Whatis
2
®) oaly sin3x+cos3x+4sin3x—3sinx+
(c) Both 1and?2 3 cos x — 4 cos® x
(d) Neither 1 nor 2 equal to ?
22. What is AB equal to ? w9
(b) 1
@® (p? +q?)sin 0
pcosB+qgsinB (¢) 2sin2x
(d) 4cosdx

(b) (pz-qz)l:osﬂ
pcos O +qsinb

26. The value of ordinate of the graph of
S A ¥ =2+ cos x lies in the interval
© (p© +q“)sin @

qcosO+psin @ [0,1]
@ (% —q?) cos (b [0,3]
qcosO+psing (e [-1,1]
I “_sinlT @ [,3]
23. Iftan @ = cos17° —s8in17 T ST
cos17° +sin17°
value of 6 ? 27. What is the value of
: 8 cos 10°. cos 20°. cos 40°?
(a) 0°
(a) tan10°
(b) 28°
(b) cot 10°
(e) . 88°
(¢) cosec 10°
d) - 52°

(d) sec10°
KJU-S-TMS (9-A)




98. cos 48° — cos 12° 1 FH F1 & ? syt @ (03) FEAT & forg 1359

@ J5 -1 ﬁqﬂ%ﬂmﬂﬁ#vﬁqmmaﬁyﬁ%
4 W&?ﬁfq:
(b) 1‘4"5 < 6
asin2x+bcosgx=c;hsin2y+acoazy=d
(c) J§2+1 5 3 ptanx=qtany 2
= 1-45 . 31. tan?x ferEs w2
8 (a) c-b
09, Prefufaa wudi o frem Hifo - 8 S

L af ABC @ awEw Byw R, S AW Bt
‘H‘qﬂfm%?ﬁ('ﬂﬁsin3=%%,ﬁ
cosecC=32 | (@ S

2. ﬂﬁbmaB:cwsC%aﬁlﬂﬁﬁTﬁ
ABC T figs & 8, T ABC IS ol

 gufzarg B dm =fRe | c=a
mmﬂﬁ%ﬁﬂmféaﬂ%? 39. d-a o e ® ?
(a) Had 1 b-d
(b) e 2 (a) sin’y
(e) 13:“‘2% b) 0082y
@ T@LIA2
(c) tan’y
30. Prafufga wo ® e AT ' | (@ cot?y
1. aﬁﬁwﬁﬁgmwcﬁ,AﬂBaﬂ(b:c o2
@,ﬁﬁ@mﬁqwml 33. ?ﬁiﬁiw%?
o, an #é frgw ABC T ® FeH A =40 + (b—c)(b—d)
B = 65° 3R % — sin 40° cosec 15°® | @a-d)@-o
: (a—d)(c—a)
mgmmﬁﬁﬂmmﬁaﬁ%fi? ®  B-o@-b
(a) e 1 © (d—-a)(c—2a)
(b) HaA 2 (b-c)(d~-b)
(© 1323 i (b—-c)(b—d)
() Fd1L,AH 2 (c—a)a-d)
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28. What is the value of cos 48° — cos 12° ? Directions for the following three (03) items -
E Read the following information and answer the
(a) 54_ 1 three items that follow :
1B Let asin2x+boo82x=c;bsin2y+acos2y=d
(b) -45 and ptanx=qtany.
81. Whatis tan®x equal to ?
(©) V5 +1
2 o
@ < ":
@ 1=
8 a-c
(b) i
29. Consider the following statements :
1. I ABC is a right-angled triangle, W 2 :
: Py
right-angled at A and if sin B = % , then
cosec C = 3, @ ‘==b
c—-a
2 IfbcosB=ccosCandifthet.riangle
ABC is not right-angled, then ABC must d-3a
be isosceles. 32. Whatis b—d equal to ?
mch of the above statements is/are correct ? 2
(a) 1only @ ainty
(b) 2only (b) cos?y
(¢) Both1and2 o5 Cands
(d) Neither 1 nor 2
(d) cot?y
30. Consider the following statements :
2
1. Ifin a triangle ABC, A = 2B and b = ¢, |33. What is P equal to ?
then it must be an obtuse-angled triangle. q
2. There exists no triangle ABC with A = 40°, @ (b—c)(b-d)
B =65°and 2 = sin 40° cosec 15°, @-d@-e
¢
(a—d)(c—a)
i . b ——n o S
Which of the above statements is/are correct ? (b) T
(a) 1only
© (d-a)(c—a)
(b) 2only . (b—¢)(d-b)
(c) Bothland?2 @ (b—c¢)(b-d)
(d)  Neither 1 nor 2 c-a)(a-d)
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sy @i (03) T & forg g syt i (03) MY @& forg 389 :
ﬁnﬁﬁﬂwﬁﬁv@qaﬂzaﬂﬁﬁhyﬁ%ﬁmﬁn@ﬁwﬂ#m@qaﬂtmaﬁwﬁ%

o e f ¢ =sin® 0+ cos” 0 & | o o fF a=p=156°2 |

g4, 13- fmh a2 87. sin o+ cos P 1 WHE F R ?

ts —ty
R
(a) t—l 2
tg :
b)) —
w B 2
ts 5
N LC) —27—'
(¢) t_5 2
T
t w &
@ =x B
tq

38. sin Ta — cos 7 1 A 1 8 ?

1
( it
85. 12—ty TohEH TR R ? R
(a) cos26 1
b)) ——=
_ 2.2
(b) sin 260
J3
(¢) 2cosb e) ——=
' “ 2
(d 2sin® 5
3
@ =
Bz
36. t,,F UH W, e 6=45°2 ? 9. sin (o + 1°) +cos (B + 1°) ToEeh T 27
.2 @ 3 cos1®+sin1°
1
® =
4 (b) Jécosl"—%sinl"
(c) 2
16 (©) %—(Jﬁ cos 1° - sin 1°)
@ = :
32 (d) 3 (/3 cos 1° + sin 1°)
KJU-S-TMS (12-A)



Directions for the following three (03) items : Directions for the following three (03) items :

Read the following information and answer the |Read the following information and answer the
three items that follow : three items that follow

Let t =sin™ 0 + cos® 0. Let a =B = 15°.

37. What is the value of sina+cosfB ?

84. Whatis 3% equalte?

ts — b " 715-
(ﬂ) ‘t—l 1
ta (b) 2—‘/-5—
t3
b =
t © S
242
ts
(C) t7 (d) iro—:
v2
d) %‘-
g 38. What is the value of sin 7o — cos 7p ?
1
(a) —
85. Whatis t{°— t, equal to ? V2
1
(@) cos 20 (b) P
(b) sin 20
(e) iﬁ_
() 2cos® 22
(d) 2sin8 J3
@@ ==
V2
36. What is the value oft.m where 0 = 45° ? 39. Wh_at is sin (a + 1°) + cos B + 10). equal to ?
(@ 1 (@ V3cos1°+sin 1°
1 1
() 4 (b) V3 cos1°- - sin 1°
@ ) —= (8 cos 1°— sin 1°)
16 (c -J—E( cos 1° — sin
ik 1
32 (d) 5 (V3 cos 1° + sin 1°)
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40. A& sinx+siny=cosy—cosx &, |43, ﬂﬁwtu@lmtﬂmxz—3x+2=0a’t
'ﬁ<y<x4%i,ﬁm[x_y]ﬁmﬁm "E‘T%,?ﬁmt(a-fﬁ)mmﬁ?

2
22

1
(a) E
(a) O
1
1 ) =
1 3
(b) 3
( 7]
£ - 5
i d 3

41. 3R A, 3 x 5 F (3ATET) 1 T AR B N[ 4q, o 3l pﬁmﬁﬂmamﬂm%qg{%shéﬁﬁ
B,5x3ﬂﬁﬂwmﬁ,ﬂ’fm3ﬁﬂx& a+ﬂ=u2+523ﬂiaﬁ=a232ﬁ'ﬂ.ﬁqmil

&1 sfeat e F gl 2 ¥ fara i ) G =R ?
(a) 3x3 3 3x3

b 3x53M5x3 i
(€ 3x3 IR 5x5 b 2
(@ B5x8 IR 3x5 ¢ 3

d 4

42. ﬂﬁpz,q2ﬁirﬂ(ﬁﬁp,q,r>ﬂﬁ)ww
Gp) & &, @ freafafes # & sRwA @l
2 7 | 45. afmw wen ::grﬁ‘f::f-i 3 =
1. p,q3M i 3 GP)YH # | vl b
9. iInp,inq3W inrEdiE 3 AP)H E |

Hr fou T Fe w1 T HEA I I (o) " 260
(a) aﬁ'al (b) 210°
(b) Had 2

120°
() 132 e o
(d A 1L,TAE2 (d 60°
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40. If sinx + sin y = cos y — cos x, where 43. If cot o and cot B are the roots of the equation

0<y<x<£,thenwhatistan[x_y) equal x2—3x+2=0,thenwhatiscot(a-l-'ﬁ)equal
2 £ to ?
to ?
1

(a) 0 (a) -2-

1
b = p 1

2 i 3
LT © 2

41. If A is a matrix of order 3 x 5 and B is a ] . P ¥
matrix of order 5 x 3, then the order of AB and [44- The roots a and of a quadratic equation,
BA will respectively be satisfy the relations o+ p = a2 + p? and

: of = o?p2, What is the number of such
(a) 3x3 and 3 x3

quadratic equations ?
- () 38x5 and 5x3 _
' @ o
() 8x3 and 5x5
@& . 2
(d 5x3 and 3x5
. (2 R
d 4
42, If p2,q2andr2(whmp,q,r>0)areinGP,
then which of the following is/are correct ?
1.  p,qandrareinGP, 45. What is the argument of the complex number
2. Inp,lnqandinrarein AP. l-i‘[g,whemi:\f—l?
1+iv3
Select the correct answer using the code given
below : (a) 240°
(a) 1 only (b) 210°
(b) 2only
() - 120°
() Both1and?2
(d) 60°

(d) Neither 1 nor 2
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46, aftw dem 0804180 oo JO1 R, W|49.

cos@ —isin®

T AT R 2
(a) &
b 1

3
(c) E

@ 2

47. {1,2,3,41%3%33@«&31{%\21
37 Sfra syegeEl #§ @ fRed WY (3)

sAfereg= ¥ ?
(@ b
(b) 6
© 7

@ 8

)5 LN T I A

BESTRY E

A1 T WE R 2
(a) D<0
() D=<O
(¢} D=0

d D=0

KJU-S-TMS

mﬁ?pqaﬂ'{r?ﬁﬂm-m
(ﬁa)mmmﬁaﬁmﬁglﬂﬁ

P g X

50.

51.

2, @ frafafes & @

(16—-A)

9 (1 + x° F x B A (v gd) T A
var fan o & A w@ vem # sifew O
uTieh] ST TRTRS T R ?

(a) 256

(b) 512

() 1024

(d 2048

R 3 & TH e e H dF A
frfefga w forem Hfe

1. AfadjA) =(adjA) A

2. |adjA|=|A|

s Sl § A BA-E/A TE AR 2

(a) %ad 1

(b) FHaA 2

¢ 13 23H

@ FW|MLIRN2
T‘T(x-2a)(x—2b)+(y—2c){y—2d)=0?|'='I'
Feg BT R ?

(a) (2a,2c)

(b) -(2b, 2d)

(¢ (a+byc+d)

(d (a-b,c-d

fag Q, -1)%maﬁwquﬁé%|nﬁaﬁ%

us feol w1 THEO 3x + 2y = 5 B, @ W
ferepol a1 EefteRTor T R ?

(a) 31-—2:]:5
®) 2x-3y=1
© 2x-3y=5

(d) 2x+3y-_-—1




46. What is the modulus of the complex number | 49,

M’whmi= ."‘._1 ?

cos 0 —isin 0
1

(a) -2'

(b) 1
3

(c) E

i) 2

47. Consider the proper subsets of {1, 2, 3, 4}. How
many of these proper subsets are superset of

the set (3] ?
(a) 5
(b)) 6
) 7
d 8

48. Letp,qandrbethreedistinctpositivereal

P S

numbers. If D = [q r P |, then which

| L N
one of the following is eorrect ?
(a D<0
(b) D<o
() D>0
d D=0
KJU-S-TMS

51.

(17-A)

What is the sum of the last five coefficients in
the expansion of (1 + x)° when it is expanded
in ascending powers of x ?

(a) 256
(b) 512
(e) 1024
(d) 2048

Consider the following in respect of a
non-singular matrix of order 3 :

1. A(adjA)=(adjA)A

2. ladjA| = |A]

Which of the above statements is/are correct ?
(a) 1only '
(b) 2 only

(¢) Both1and2

(d)  Neither 1 nor 2

The center of the circle :
(x - 2a) (x - 2b) + (y - 2¢) (y-2d)=0 is

(a) (2a, 2c)

(b) (2b, 2d)

() (a+b,c+d)

(d (a=b,c-d)

The point (1, -1) is one of the vertices of a

square. If 3x + 2y = 5 is the equation of one
diagonal of the square, then what is the

equation of the other diagonal ?
(a) 3x-2y=5
(b) 2x-8y=1
() 2x-3y=5

d 2x+3y=-1



53. WA ohfm 5 Py fRt deEE|67. am oifse f5 ABC @ fiyw @ 1| IR D@, 5
25x2 + 16y% = 400 W 1§ fig # 1 7M1 QO, 3 SN E(5, 9) F: YE AB 3R AC ¥ wea-fig
sk RO, -9 2 fig & @ PQ + PR) FFES £, @ sy BC # T ¥R ?

T R ? (a) 8
W, 2 ® 10
(b) 10 © 12
(€58 @ 14
(d 6

58. af2 firg (0, k) & L@ 3x — 4y — 5 = 0 T E¥ T

B4, AR @i x+ 2 =0, y+2=0 3

| 1 U2 (3, 1) R, Ak H A R ?
kx +y +2 =08 &4 B 1 o -1,-D %,
A Kk T TR ? (@ 3
(a) -1 il
Aj Aka ¢ b
e 1 . -6
@ 2

59. 37 Yareit % 9 w1 st B w7 8, fEh

55, e y2 = x §, ¥id ¥ T ATl I x-7E o 2 - V3 32+ V3 §?
£ 3 o F A b 7 fan h g F0E 2 @) 105°

(a) sin®.sec’0 (b) 120°

(b) cos O .cosec’ 0 (c)  1858°

(¢) cotB. sec2 0 (d) 150

(d) 2 tan 0 . cosec? 0
60. uﬁsx-4y—5=oaﬂ13x-4y+15=oﬁsﬁﬁ

: . it #i 3t % ¥ gefteor €,
56. frm whET ¥ i, fg @, b), ¢ & M a‘raﬁﬂw%?ﬁ% ¢

(a—c, b—d) G &2

(a) 43§18
(a) ab=cd e
b) 9F FHE
(b) ac=hbd (b
(¢) ad=be (© 163 gﬂg
(d) abe=d (@ 2541 T

KJU-S-TMS (18-A)



53. Let P(;:. y) be any point on the ellipse
25x% + 16y2 = 400. If Q(0, 3) and R(0, - 3) are
two points, then what is (PQ + PR) equal to ?
(a) 12
(b) 10
() 8
d 6

54. If the circumcentre of the triangle formed by
theli.nesx+2=0,y+2=0andkx+_y+2=0
is (-1, -1), then what is the value of k ?

(a) =1
b)) -2
(o) MIREY |
d)y 2

55. In the parabola, y2 = x, what is the length of
the chord passing through the vertex and
inclined to the x-axis at an angle 6 ?

(a) sin@.sec?d

(b) cos6.cosec?d
(e) cot®.sec?p

(d) 2tan6.cosec?0

56. Under which condition, are the points (a, b),
(c,d) and (a — ¢, b — d) collinear ?

(a) ab=cd
(b) ae=hd
(c) ad=hbe
(d) abc=d

KJU-S-TMS

57.

58.

(19-A)

Let ABC be a triangle. If D(2, 5) and E(5, 9)
are the mid-points of the sides AB and AC
respectively, then what is the length of the .
side BC ?

(a 8

(b) 10
() lé
d 14

If the foot of the perpendicular drawn from the
point (0, k) to the line 3x — 4y -5=0is (3, 1),

then what is the value of k ?
(a) 3
(b) 4
© &
d 6

What is the obtuse angle between the lines
whose slopes are 2 — /3 and 2 + V3 ?

(a) 105°
(b) 120°
(c) 185°
(d 150°

If 83x—~4y-5=0 and 3Xx -4y +15=0 are
the equations of a pair of opposite sides of a
square, then what is the area of the square ?

(a) 4 square units

(b) 9 square units
() 16 square units
(d) 25 square units




61. o5 e ¥ o 6 o w g e 66 mmmaﬂww%ﬁ}mmw
¥ Q-2 9 g ? ot St wHAA m;@s5{ﬁcz(w@)m%aﬂtxy-aa$

6x_ 3y + 22— 4=0 I T F 8 ? T 8 ?
(@) 15918 (a) x;yss
(b) 27HE &) .
) 33$l'§ (c) z=0
@ 478 '

d x+y+z=5

62. fig 2,3, 48 W@ 1‘_;_":!;9:?_-2&.“' o 4, xya@ 8w ww () @Rw R A

: 0 0 ST x.31% F W 30° F 0 @ B, A
ok bt A fras TR R 2
(a) 6FHE A
b) 5FFE @ Y
(c) 3 THTS I A A
' 1 A
@ 2% 2
63, af fch Y 3 -3 (i - i
<a+h,b+c,c+a>%,?ﬁ3ﬂﬂ&§ﬂﬁﬂhﬁ
¥ il @1 ArTE w41 R 2 @ i-V83
2

(a) (a+'ra+c}2

(b) 2(a+b+c) : -
67. W ifwe % A fweam (wmfy/erE) & s T

s | figtfi |0k | - 128, vl oxefig t 1 TR
@ 1 OA x.378 3N y-318 % EIY HW: 45° 3 60°
=1 v T 2, @ OA forah s # 2

Mﬁiﬁ@ﬁ(ﬂﬂfﬁ/@ﬂ)ﬂ%ﬁiﬂiﬁwﬁaﬁ . A e

y@el # faRm Fa 82

@ 2 _ ® 65 +642 ]t 6k
b 4 A A
e © 6423 +6]*6k
(e * 8

@@ 16 @ 8423 +3) £ 6k

KJU-S-TMS (20-A)



61.

62.

KJU-S-TMS

What is the length of the diameter of the
sphere whose centre is at (1, - 2, 3) and which
touches the plane 6x — 3y+2z-4=0?

(a) 1 unit

(b) 2 units

(¢) 38 units
(d) 4 units

What is the perpendicular distance
from the point (2, 3, 4) to the line

x—O_ywo_z—O,

1 0 0

(a) 6 units

(b) 5 units
(c) 38 units

(d) 2 units

If a line has direction ratios
<a+b, b+e, ¢+ a >, then what is the sum of
the squares of its direction cosines ?

(@ (a+b+c)?

(b) 2(a+b+c)
(¢} ' 3

@ 1

Into how many compartments do the
coordinate planes divide the space ?

(a) 2
(b) 4
(e) 8
(d 18

67.

(21-A)

What is the equation of the plane which cuts
an intercept 5 units on the z-axis and is
parallel to xy-plane ?

(@) x+y=5
(b) z=5

() z=0

d x+y+z=5

If & is a unit vector in the xy-plane making an
angle 30° with the positive x-axis, then what
is a equal to ?

JBi+]
2

V3i-
2

(a)

s

(b)

[

@
LTS Y

(c) 0

2

A
L

d
(d) 2

Let A be a point in space such that
| OA | = 12, where O is the origin. If OA is
inclined at angles 45° and 0° with x-axis and
y-axis respectively, then what is 6.3 equal
to ?

(@ 6i+6]+3h

® 6i +6v2} + 6k
© 6v2i+6]+el

@ 3v21+3]+e6k



68. @maﬁwﬁﬁaﬁm(m)gmﬁm
3} ~4) +5& 3 1 .-2j _3k 1 WS
favit ® Fefie $8 T@ @k F s
(ﬁ@)qu&mww%?

(a) 21
(k) 25
(c) 31
@ 36 73.

oo M ATER P (9.8 1 = e R
|2 =4 8@ | D | Feudsam R
(a) 38
(b) 4
() 6
@ 8

70. 3fE =fewm ol
> 2l 8}k, B =1 +2] -3k 3
2=} +pk omacia & A pF AR TR ?

(a) 1
b -1
() b
@ -5

71. x“_‘fl_.__-———““if_’;a‘3 forah SR R 2 o
(a) 1
b 2
(e) 3
@ 6

KJU-S-TMS (22-A)

qaqaaﬁrﬁw 07 cm/sec 1 A 9G W R |

ot it % WA BT AR ?

(a) 4-4cm/sec

(b) 84 cm/sec

(¢) 88 cm/sec

(d) 154 cm/sec

af lm x*-1 _ lim x? = k® e

x—>1 x-1 x>k g2 k2’

k=02, A kK TH FE ?

(a)
(b)

(e)

B oesloo |k |

(d)

ST FHIE % ¥ j [1+(d—y)2fdxﬁ;

dx
A 3w (aits @ fh) o d
(a) 131’II1r
(b) 23R3
(c) 2 34
@ 134

lim sinxlog(1-%) fed w2 2
x—0 x2 P

(a)
(b)

(c)

(d)



68, Twu ad,]acent sxdes of a pamllelogram are
21—4_} +5k and 1—2_] -—3k What is the
magnitude of dot product of vectors which
represent its diagonals ?

(a) 21
(b) 25
() 31
(d 36

. If |axb |®+|%.b |2=144 and
| : | =4, then what is | ? | equal to ?
(a) 3
(b) 4
() 6
(d 8

70. If the vectors a. =2? —33 - 12,

-l;’= Ji~+2ji‘—3]2m:u:l—c’= 3+p£are
coplanar, then what is the value of p?
(w1

(b) -1

() 6

d -5

71. Whatis xﬁ_”:‘l “xii’;s o ial to
(@) 1
(b) 2
) 38
d 6

KJU-S-TMS

72,

74.

75'

(23-A)

The radius of a circle is increasing at the rate
of 0-7 em/sec. What is the rate of increase of its
circumference ?

(a) 44 cm/sec

(b) 84 cm/sec

() 88cm/sec

(d) 154 cm/sec

g T xio1 Dlm, (x¥ g0 where
x—>1 x_1 x>k 2 2’

k # 0, then what is the value of k ?

2
(a) 5
4
B)
(b) 3
8
(c) §
d 4
The order and degree of the differential

2
213
equation k-g—: = I[1+(%JJ dx are

respectively

(a) land1l
(b) 2and3
(c) 2and4
(d) 1land4
.. lim sinxlog(l-x) ?
Whatlﬂ x40_-—,‘7__ equa.lto [
(a) -1
(b) Zero
() -e
@ =i

e



(tan® x + tan x) dx H AN FTE?

76. % fx) = 3x% — 5x + p I AO) 3R K Tl o'
fm 3 &, ) e 3 & S w22 I
0

(a) -2<p<0

@ 3
b) -2<p<2
(¢) 0O<p<2 ®) _12_
a) '3 5
\ s (e} - I
d 2

71. ﬂﬁeeq’=c+49(p,3|ﬁcf{$ﬁ?53:lﬂ'(%3ﬂ(

' w2, A ¢ do fohas TR 2 7
@, 61 Th ®, W odo ®? g0. WA e f& y = 3x% + 2 2| AR x 108

(a) ©dy Theafa Bt 101 B T 2, @y FA IR
() -6do mE
(¢) 40do (a) 471
@ -40do (b) 523
(€ 603

78. R pv) = @O R, T Ipm i Pookwow| @ 8o

22
81. ﬁﬁf(x}:smx,aﬁxen,fﬁx=omm

(a) —pE—)—+c =

1+2in2 2T 2, A x = 0 HEH F AH
By e i (a) 0 BT =Ry

20+2In2)

() 1 8 =R

© 2p(x) o E.'Fﬂ

& el () 28 =fEe

px)
@ 7 +c @) Tuifa & e s whar

+In2

KJU-S-TMS : (24-A)



el S

76. If fix) = 3x% - 6x + p and f0) and f(1) are
opposite in sign, then which of the following is
correct ?

(a) -2<p<0
b)) -2<p<2
@ Decp<?
(d 3<p<b

77. If e% =c + 40p, where ¢ is an arbitrary
constant and ¢ is a function of 6, then what is
@ d6 equal to ?

(a) Odo
(b) -6de
(¢) 46deo
(d) -46de¢

78. If p(x) = (4e)?*, then what is J. p(x)dx equal

to?
p(x)
(a) Tiehgte
p(x)
® SahrinD
2p(x)
et T < G
p(x)
d ! LR
W 1+in2 iy
KJU-S-TMS

(25-A)

79.

81.

x/4
What is the value of J. (tan® x + tan x) dx ?
0

(o) 35

1
_(b) 2
(ol T s |
@ 2

Let y = 3x2 + 2. If x changes from 10 to 10-1,

then what is the total changeiny ?

(a) 471
(b) 5-23
(c) 603
(d) 801
If filx)= smx, where xR, istobe

continuous at x = 0, then the value of the
functionatx=0

(a) should be 0

(b) should be 1
(c) should be 2

(d) cannot be determined




82, T e GHEHW dy = (1 +y2) dx 1 &6 2

(a) y=tanx+c¢
(b) y=tan(x+c)
() tanl(y+c)=x
(d)

tan‘l(y+c)=21

83. I(el°g“+smx} cos x dx Tohae® U B ?

sin? x

(a) sinx+Xcosx+ 3 +c
p sin? x
(b) sinx—-Xcosx+ 5 +c
5 sin? x
() xsinx+cosx+
. sin? x
(d) xsinx—XcosXx+ +c

84. e fix) = cos! (x — 2) 1 S (7d) T2 ?

(a) [-1,1]
b [1,3]
() 10,5]
@ [2,1]
KJU-S-TMS

85‘

87.

(26-A)

o y2 = 2x 3R T W@l y = x % e ufwg &
1 BB T8 ?

1
(a) E
(1) R

2
(c) §
d 2

af2 fix) = 2x - x2 @, @ fix + 2) + fix - 2)
am, 39 fufa # 5@ x =0 &, T8 ?

(a -8
by -4
() 8
d 4




82. The solution of the differential equation

dy =(1+y?dxis
(a) y=tanx+ec
(b) y=tan(x+c)

() tanl(y+eo)=x

(d tanl(y+c)=2x

&'
<9
(a) sinx+xcosx+ B X +c
==
(b) sinx-xcosx+ 2 X +c
.9
() xsinx+cosx+ -2 X +c
.8
(d) xsinx-xcosx+ oac +c
84. What is the domain of the
fix) =cos™ (x - 2)?
(a) [-1,1]
(b) 11,38]
(o) [0,5]
KJU-S-TMS

What is J.(el"g"-l-sinx)cosxdx equal to ?

85.

87.

function

(27-A)

What is the area of the region enclosed
between the curve y?=2x and the straight
liney=x?

1
(a) 'é'
{h) 1

2
(c) §
d.- 2

If fix) = 2x - x2, then what is the value of
flx + 2) + fix - 2) when x = 0 ?

(a) -8
(b) -4
(c) 8

d 4

If x™y = a™*n then what is % equal to ?
X

[ . 5
mx



gs. | 9%  frud w2 91. fix) = ¢ ¥ ¥ R, Frafafgs woet m fem

x(x“.+1) :
@ .1 _adulf 5 1. x=0% e §aa 2 |
n x"+1
9.  x=0T He ATHeHE B |
) zn-(x“u]w I e § @ B/ T A 2
¥ :
(a) Had 1
© In o (b) Had 2
e T |
() 1323
@  dmlEELi. @ TMLIR2
n xn

89. |x-1|H W AR FNR, T xcRR? |99 o v cos x o1 SHTEHAH A 01 8 2

(@ 0 (a) 2
b 1 - S |
(¢) 2 (e) 1

@ -1 @ 22

2
90. Ik 98 W T & frw forg X84k o
. X ; X , q=X
gg, lm 37437 -2 Qoo st ®?

x%mﬁmm,@qﬁﬁuwifm x—0 -
&4
(a) O
(@ 0 ® -1
) L 1
© 2 @ Hm o e @ R (i feme
7 ?)
(d -2

KJU-S-TMS : (28-A)




dx

88. Whatis _
x(x™+1)

i 9
(@ lm( x ]+c
n 2 +1

n
(b) zn[‘ ”JH

n
(e) In[x ]+c

n
@ -l-zn[*‘ “}H:

equal to ?

91.

89. What is the minimum value of |x = 1|, where |92.

xeR?
(@ o0
(b 1
€ 2
fd) -1

90. What is the value of k such that integration of

3x2 + 8 -4k
X
rational function ?
(a) 0
) R |
fey:- 12
d). -2
KJU-S-TMS

with respect to x, may be a 93.

(29-A)

Consider the statements for

filx) = e-'xl .

following

1. The function is continuous at x = 0:

2. The function is differentiable at x = 0.
Which of the above statements is/are correct ?
(a) 1only

(b)  2only

(¢) Both1and 2

(d) Neither 1 nor 2

What is the maximum value of sinx.cosx ?

(a). 2
b)) 1
(c) *
@ 2v2
- X - 1
What is tho . +3x 2 sudlio?
(a) 0O
b -1

fey. I

(d) Limit does not exist



94.

KJU-S-TMS

(d)

cot-lx % Gay H (F UNF) tanlx B
FaHES TR ?

(a)

b)) 1

(c)

(d)

He ulx, y) =c, A ATHA GHIHO
% (dx — dy) + y (dy — dx) = 0 Y HFT F &,
HEATR ?

(a) x2+y2=xy+c
x2+y2==2xy+c

x2-y2=xy+c

xz—y2=2xy+c

(b)

(e)

3 cos [A+%) 1 AGH W T 8, FEl Ae R
22
(a) -3
®» -1
© 0

d 3

97.

98.

(30-A)

Prfefiga wua W fomm Fifs
1. B fix) = In x FATA (0, ) F T R |

9. W fx) = tan x AT [—g,g]ﬁ
Ereich 8

I HE § & BA-A/E 76 A 2

Fad 1

A 2

1 3R 2 gt

FA LA 2

(a)
(b)
(e)
(d)

1 ¥ o ¥ dey #, fafafea 4 9

&2 x-1

F-A1 TF TEl 2 2

@) O (x e R|x = 1} & 3 ww ()
TRt GEais H qYeed ¢ |

(b) WA xeR|x# 1T, TWH [yeR|y#012
3 T y-31& H (0, - 1) W wfa=d Fa

21

2N aafas SEEe w1 g9 § 3
wE T g (0} R |

(c)

B (x eR|x # 1) 8 3 WH y-38 |
forgail @1 w= 2 |

(d)

aawmﬁman[%] —x FEATR?

(a) y=¢€e*+c¢
(b)
(c)

(d)

y=e  +¢
y=lnx+c¢c

y=2Inx+c




94. What is the derivative of tan~! x with respect

KJU-S-TMS

to cot1x?
(a) -1

() 1

(c)
x“+1

(d)

x2+1

The function u(x, y) = ¢ which satisfies the

differential equation
x(dx-dy) +y(dy -dx) =0, is

(a) x2+y2=;y+c

Eb) x24_-y2=2xy+c

x2-yl=xy+ec

x2-y?=2xy +¢

(c)

(d)

What is the minimum value ofﬂcos(A+g]

where Ae R?
(a) -3
(b)) -1
© 0

d 3

97.

ml

(31-A)

Consider the following statements :

) The function fix) = In x increasés in the
interval (0, ).

2. The function fix) = tan x increases in the
- T T
interval (— —2', E J .
Which of the above statements is/are correct ?
(a) 1only
(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

Which one of the following is correct in respect
1
?

of the graph of y =
x-1

(a) The domain is {xe R |x # 1} and the

range is the set of reals.

(b)  The domain is {x € R|x # 1), the range is
{y € R|y # 0] and the graph intersects

y-axis at (0, -1).

The domain is the set of reals and the
range is the singleton set {0).

(c)

(d) The domain is {x e R|x # 1} and the

range is the set of points on the y-axis. -

What is the solution of the differential
equation /n [%J =x7?

(a)
(b)

) y=lnx+c

(d)

y=e*+c

y=ex4+¢

y=2lnx+c



100. 7 wifsw 6 v a6 ward 3k =9erE b

101.

WIS EF 1+ b=k | 3m3a = fran
SF T8 2

(a) 2k?

(b) k2

HEgraAl 4 AR 9 H FHEHad FHAW: x I
x-1 ¥ | IR 7 TR T 6 R, A xH
HE R 2

(a) 2
(b) 3
() 4
d b5

- 102. 3fg 9= gl B W I W G Frar ¢ 6

KJU-S-TMS

I @ Tl oft S 9El W EEE e SR T8
A, d @ W How wREa @ R oww
HeTh W &1 6 It 2

(a)

oo

(b)

|

(c)

B2 | =

(d)

oo

103‘

104.

(32-A)

7f P(AUB)=%, P(AnB)=% aiit

Plnot A) = 3 B, T Frtferee & & P wlh
i

2
(a) P‘(B) = E

(b) P(A N B)=PAPB)

(c) P(AUB)>PA)+PB)

(d) P(not A 3 not B) = P(not A) P(not B)

n YU % 2.5 ¥ AW U fFEeE] w1 e 50
21 Yzoi ¥ h wg=w ¥ 35 ¥ AW MU

foraet %1 JTPeA —508 | n W AR FTR ?
(a) 50
(b) 60
(c) 80

(d) 100

.nﬁwﬁ%wmtiﬂg(@aﬂ)wm.

2M 8, FEf% 2n JE@UI & TH I (W) AfHe
gEd H W M ? | WY ARSI AUR
(T=T) o HTeT 9T R 2

(a) M

3M

b
(b) 2

2M

3
4M

3

(c)

(d)




100. Let!bethelengthandbbethabreadthofa
rectangle such that /+b=k. What is the
maximum area of the rectangle ?

(a) 2k2
(b) k2
K2
(c) —2"
K2
(d) =

101. The numbers 4 and 9 have frequencies x and
(x - 1) respectively. If their arithmetic mean is
6, then what is the value of x ?

(a) 2
(b) 3
(e 4
d 5

102. If three dice are rolled under the condition
that no two dice show the same face, then
what is the probability that one of the faces is
having the number 6 ?

5
(a) E
5
(b) ry
1
(e) E
5
(d) 1z
KJU-S-TMS (33-A)

104.

106.

108. If P(Au3)=§, P(AFIBJ=-% and

P(not A) = % , then which one of the following

is not correct ?
2

B)==

(a) P(B) 3

(b) P(AN B)=PAPB)
© PAUB)>PA)+P(B)

(d) P(not A and not B) = P(not A) P(not B)

The sum of deviations of n number of
observations measured from 25 is 50. The
sum of deviations of the same set of
observations measured from 3-5 is — 50. What

is the value of n ?

(a) 50

(b) 60

(© 80
(@ 100

A data set of n observations has mean 2M,
while another data set of 2n observations has
mean M. What is the mean of the combined
data sets ?

(a) M

3M
o 52

2M
(e) —5—

4M
(d) .



Tt @7 (03) TEE & fere A5 :

Freffaa Fmei # 9ike HR e @7 T #

me‘?ﬁm:

. faenfefat it w@m
ifqs fasm ifora

10 - 20 8 10
20 - 30 11 21
30 — 40 30 38
40 - 50 26 15
50 — 60 15 10
60 - 70 10 6

106. Mitfas fasm it i # e 6 @@ F
e w1 3iax fra siane # Aftead 8 2
(a) 20-30
(b) - 30-40
(¢) 40-50
(d 50-60

107. Frefefiag s w = fifvm

1%-

KJU-S-TMS

1. ifes fgm ¥ ol w1 WgEs A,
. 3iaue 30-40% @R |

o wifiys famm & it & wifern (HifsE),
wfora 3 st =t ATfSE A FH R |

I FoEl A ¥ AU TE AR 7
(a) Had 1

(b) e 2

(@ 13R23F

(@ 1,782

sitferes forgm § 37l = wrew fpae 2 2
384
39-4
409
416

(a)
(b)
(e)

(d)

lwl

110.

111.

(34-A)

_ (b)

vt -6, -5, —J4, -1,1, V4, V5, /6
1 A foae T 8 ?

v2

(b) 2

(a)
© 2v2

d 4

7fg et Iftmm = x & foe

¥ x; = 20, £x? =200 3 n = 10 &, @ fererw
TR T R ? '

(a) 80
100

(¢) 150

@ 200

7@ =@ $ w2 iwa @ R agssa 91
s aftEd (efiw ad) & wEh § o= dER

B ? :

1
(a) g

1
(b) 7

2
(C) ?
d 1




Directions for the following three (03) items :

Read the following information and answer the
three items that follow :
Number of students
pinins Physics Mathematics
10 - 20 8.5 10
20 - 30 11 21
30 — 40 30 38
40 - 50 26 15
50 - 60 15 10
60 — 70 10 6
106. The difference between number of students

107.

under Physics and Mathematics is largest for
the interval

(a) 20-30
(b) 30-40
(c) 40-50
(d) 50-60

Consider the following statements :

1. Modal value of the marks in Physics lies
in the interval 30 — 40,

2. Median of the marks in Physics is less
than that of marks in Mathematics.

Which of the above statements is/are correct ?
(a) 1lonly
(b) 2only
(¢) Both1and?2
(d) Neither 1 nor 2
108. What is the mean of marks in Physics ?
(a) 384
(b) 394
(e) 409
(d) 416
KJU-S-TMS (35

109,

110.

111.

-A)

What is the standard deviation of the
observations

-v6, -5, -V4, -1, 1, V4, V5, V6 ?

(@ 2
(b) 2

© 242
d 4

If £x =20, x? =200 and n = 10 for an
observed variable x, then what is the
coefficient of variation ?

(a) 80

(b) 100

() 150

(d 200

What is the probability that February of a
leap year selected at random, will have five
Sundays ?

1
(a) -5-
(b) 7

2
(c) :‘;
td) 1



112. 100 J&il =1 GHIGT WIET 40 B | WG H, T8 TR

113.

114.

KJU-S-TMS

T R T JEw 53 W et § 89 gg form
T AT | WE EHIGT AT w1 R ?

(a) 398

(b) 397

() 396

@ 396

s @ wg B 3 fifs % fog o ofa oi ol
e TR % forg 3ufea gw | uf % 9 M
% whwm 1 & oh woh B @ I A
s L ¥ AR 3 el e § @
Preferfa # @ fareehl w2 22

(a) 78 | HA-A-%0 el w1 T SEn
(b) I ¥ FHaer TH B & T A

(¢ 398 ¥ et =+ oft 7 g1 Smem

(d) 39 2HI I AT S

us faaes % T 15 w0 ggied (Reei) w1
e & el & 6 weht (@R) ¥ | wm =fE
15 WU gEiel § & 4 JgeSd IA@ § | w0
wifresar 2 fs 7 T wft faess et € 2

1

(a) gi'

4
(b) a1

6
(e) a

15
(d) o1

(36-A)

115. 3 (2) wTe 3R A (2) AR F w6 wE A

¥ 3 T ol 59 S R | 39 9@ h R
siftrerar & fF 3a wfify # 2 @mere oik 1 wferm
&2 '

(a)

ool

(b)

-

(c)

N

(d)

b | =

116. 13 10 7% TEHifhd 10&:5&351@313&%?%

= @ 3 e Feet I & | o Wi @
i frma U AT el W ST WA # 2

1
(a) E

(b)

BO| =

(e} ~ =

(d)




112. The arithmetic mean of 100 observations is 40,

113.

114.

KJU-S-TMS

Later, it was found that an observation 58’
was wrongly read as ‘83’. What is the correct
arithmetic mean ?

(a) 398
(b) 397
() 396
(d 395

A husband and wife appear in an intervew for
two vacancies for the same post. The
probability of the husband’s selection is % and
that of the wife’s selection is % If the events

are independent, then the probability of which
11, '

: 85

(a) At least one of them will be selected

(b)  Only one of them will be selected

()  None of them will be selected

(d) Both of them will be selected

one of the following is

A dealer has a stock of 15 gold coins out of
which 6 are counterfeits. A person randomly
picks 4 of the 15 gold coins. What is the
probability that all the coins picked will be
counterfeits ?

i 3
91
k2
91
A
91
15
91

(a)

(b)

(c)

(d)

116.

(37-A)

115. A committee of 3 is to be formed from a group

of 2 boys and 2 girls. What is the probability
that the committee consists of 2 boys and

1girl ?

(a) g
(b) %
(©) %
@ %

In a lottery of 10 tickets numbered 1 to 10, two
tickets are drawn simultaneously. What is the
probability that both the tickets drawn have

prime numbers ?

(a) %
(b) %
(c) -1%
@ %



117. W wifo 76 X 3R ¥ e Hrea i gag

118.

ﬁﬁ:@ﬁaﬁﬁaﬁnﬁ(?ﬁ)aﬁmﬁims
fon gon & £ X = 65, Y = 67, ox = 25,
oy = 35 3 X, V) = 08 } | XWY®H
gurerEe (Forew) 1 wfie #4082

(a) Y=0175X-5
(b) Y=112X-58
(¢ Y=112X-5

d Y=017X+58

T AGgeH W X @ fmm i st s
n=1oa-ﬂtp=%%maﬁqaéz=rmmgaw
FAT R | 99 Y = 10 - X I n 3R p F i
oz #2F 1 ATE F@1 R | T G H n I
p%mmzﬁ

(a) b, %
® 5, %
(e) 10, g
5
@ 10, %
KJU-S-TMS
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119. af2 A 3l BS v 3@ w=R ¥ &% P(A) = 06,

P(B)=0-5WP{AHB)=O-4%,?ﬁﬁﬂﬁ“ﬁEﬁ
oAt w fa=mw #ifse .

1. P(AUB)=09.

2. P(B|A)=086.

It Ul @ AR w6 AR 2
(@) % 1

(b) HeEd 2

(© 1323

@ TAAM1L,TE2

120.Eh={té‘i§qx,vaﬂtzqaaﬁ§mmm%$

wTE &, ol %% ¥ ot THR & 7 T (IEHEA
) 1 Wi % 0-02, 003 3T 0:05

9 | fora T & v @ € Twl F 50% Fh

X ST 2, 30% $% Y T & 3R 20% % Z
ST R | X ¥ HUO A ol FEEAAHA! B

FaTa F1 R ?

9
(a) -2-6

10
(b) %0

19
(e) %

28

Sl T

29




117. Let X and Y represent prices (in %) of a 119. If A and B are two events such that P(A) = 06,

commodity in Kolkata and Mumbai
respectively. It is given that X = 65, Y= 67,
Ox = 2'5, oy = 35 and r(X, Y) = 0-8. What is
the equation of regression of Y on X ?

(a) Y=0175X-5
(b) Y=112X-58
(©0 Y=112X-5
d Y=017X+58
120.
118. Consider a random variable X which follows
Binomial distribution with parameters n = 10
and p = % Then Y = 10 — X follows Binomial

distribution with parameters n and P

respectively given by

(a) 5; —;~
® 5, -f;i
- 10 g
@ 10, i;-

KJU-S-TMS (39-A)

P(B) = 0-5 and P(A N B) = 0-4, then consider

the following statements :
1. P(AUB)=049.

2. P(B|A)=06.

Which of the above statements is/are correct ?
(a) 1only

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

Three cooks X, Y and Z bake a special kind of
cake, and with respective probabilities 0-02,
0-03 and 0-05, it fails to rise. In the restaurant
where they work, X bakes 50%, Y bakes 30%
and Z bakes 20% of cakes. What is the
proportion of failures caused by X ?

9
(a) '2—6

10
(b) ey

19
(c) -2"5

28
(d) 29
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&= T % fore g
SPACE FOR ROUGH WORK
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F=t wTH & fore sTg
SPACE FOR ROUGH WORK
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w= ®19 % fore wrmg
SPACE FOR ROUGH WORK
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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
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Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificate. :

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTYFORWRONGANS’WERSMAR‘KEDBYACANDIDATEINTHE

OBJECTIVE TYPE QUESTION PAPERS.

i) There are four alternatives for the answer to every question. For each question for which a wrong answer
hasahln:;n given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(i)  If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.
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